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¥ Task Template: Direction Field for the ODE y'=f (x




Direction Field
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> DEtools[ DEplot]((5), y(x), x =(6), vy = (7), linecolor = black)
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Initial Points

> [[0,0.2],[0,0.4], [0,0.6], [0, 0.8]]

[[0,0.2], [0, 0.4], [0,0.6], [0, 0.8]]

Direction Field with Solutions

> DEtools[ DEplot]((5), y(x), x =(6), vy =(7), (8), linecolor = black)
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VY Technical Documents

* Combining math and text
* Word-processing tools
* MapleCloud

Section 1
The limit of lirno(sin(x) + cos(x)) is 1 as you can see.
X —

V¥ Interactive Components

» create data table




V¥ Resources

* Maple portal
* Maple Cloud

1 2 3 4
1 10 0 0 0
2 10 0 0 0
300 0 0 0
4 0 0 0 0
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